Kurvendiskussion: | f(x)=2x"-e™*

Definitionsmenge: D =R

Nullstellen:  f(x) =2x2-e™* =0

x1=0 #0

Grenzwerte: lim f(x) =1lim2x*-e™* =0 (e-Funktion gewinnt)
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Gegen +  Gegen 0

lim f(x) = lim 2x” - e~ = +oo
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Gegen +  Gegen + o

Schnittpunkt mit der y-Achse: T(0/0)

Extremwerte: f'(x)=4dx-e " +2x e (=) =4x-e " =2x> e =¢ ™ - (4x—2x>)=0

e

#0 (4x—-2x*)=0
x(4-2x)=0
X1 = 0
Monotonietabelle: x1|= 0 X |= 2 Xo=2
f - | + | -
Gt \ / \
TIP (0/0) HOP (2/1,1)
Tangente bei x = 1
Ansatz: y=mx +t
m=f(1)= g =(,73
e
y=1(1)= g =0,73 Einsetzen: 0,73=0,73-1+¢ = t=0
e

Tangente: y=0,73 e






